MA241-007: Calculus II

Instructor: Mr. James Cook
Test: #1 Form A
Date: Monday, Febuary 7, 2005

Directions: You must show ALL your work to receive credit. Please place a eircle or box around
your final answer for each part.

1. (20 pts) Partial Fractions

(a) Set-up ( that is don’t find A,B,... etc.) the partial fractional decomposition for:
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(b) Use partial fractions to calculate the integral below:
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2. (44 pts) Calculate the following indefinite integrals. Clearly indicate any substitutions you

make,
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3. (20 pts) Evaluate the following definite integrals. The answers should involve only numbers,
no functions for full credit.
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4. (15 pts) Let v(t) = * be the velocity of a particle at time ¢ in meters per second.

(a) Calculate fﬂ*l v(t) dt. What does this integral tell you (one sentence)?
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(b) Find M; to approximate the displacement during the first 4 seconds.
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(c) Find an upperbound K such that |[v"(t)] < K when 0 < ¢ < 4. Then use that |Ey, | < 325
to find an upperbound on the error in M5. Is this a reasonable upperbound given what you
know from your earlier calculations in this problem?
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